2015 BN\ =7 a0 )—2 HEN40—10—40 =730—10—30
B A F—24 - FIES FIES HH e {ji R | EET—2
5 LA

11:00 fFGetyou Vs EIIRC LR | AR | FCLyR | FCLyR FCL R
13:00 =z vs| FC GROOVY fFGet | fFGet | BHIFC | HMMFC | EHIFC FCL ok EAIFC
15:00 | RA2obz =% |vs| FCLyRAa7—X | —=b ~=L | GROOVY | GROOVY GROOVY
8:50 A=Y AR = = W = W = .
9:50 ITVH v=7]  katsushika 2014 W = W = W = W = FCroR) B =

WHIFY | 11:00 ENFC vs| FC GROOVY FCLvR | FCLyR | f$Get | f$Get | W = f#Get
13:00 e Y S vs| RALoLz | BEIIFC | FLNFC | GROOVY | GROOVY fEGet GROOVY
15:00 | FCLyRFAa7—X |vs fFGetyou = o LA LA LA
8:50 PASTAYS A W = = W = W = o Ba
9:50 FC GROOVY  |v=7 Bt7= %9 W = = W = W = PPN
11:00 | RA~obz =4 |vs fFGetyou - oL | EHIFC | EHIFC EAIRC EANFC
13:00 =Ly Vs EINFC LA LA FGet FGet FGet
8:50 PASVAYS A = = = = o Ba
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15:00 =)L/ vs| FCLyRza7—=x | GROOVY |7 /L —7¢| GROOVY | GROOVY GROOVY
8:50 A=Y ARV W = W = W = W = e
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9:50 ITV A v=7] FCLyRAZ7T—X % = % = % = % =
11:00 | RAob2 =48 |vs FC GROOVY EONFC | BNFC | FCLyR | FCLyR | W & FCL R
13:00 =Ly Vs fFGetyou AL | AL | GROOVY | GROOVY FCL it GROOVY
15:00 HANFC vs| FCLyRz2ay7—X | —zaju =y, FGet FGet FGet
8:50 Tasroy)—7 W = W = W = W = FCL ol =
10:00 | katsushika 2014 [|v=7] FCLyRRAa 7 —X |77V % | /7L % | GROOVY | GROOVY FCL R

8= | 11:00 ITV L v=7]  FC GROOVY ka2014 | ka2014 | FCLvK | FCLv R | W & GROOVY
12:00 WITEC vs| EhAL ALY —L | FCLvR | FCLYR | fFGet FGet EGot FGet
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6/21 T A 10:30 FC GROOVY |v=7| katsushika 2014 W = W = Iy 2 W = PPN FCoi | =
M 12:00 | BEAnAL ALY —L |vs fFGetyou FCLvF | FCLwkR | BT BT T T
14:00 | FCLyRRa7—X |vs PTLRC FLAL | FLAS | FiGet fFGet fFGet
8:50 A=Y AR = W = W = W = .
—— 21 W =
9:50 Bit7- %9 v=T] ITVR W = W = W = W =
6/28 N 11:00 5L Vs 67 ZiA 247 307 3fiL W = 3fiL
13:00 1L Vs AT 5 5 6L 6L . 647
317
15:00 2031 Vs 37 147 147 407 407 447
8:50 A=A W = W = W = W = i PN
9:50 katsushika 2014  [v=7 [ Wiat9) W = W = W = W = ’
7/12 |©| WHIFT | 11:00 AT vs| SOLVSNLOWsF | EATHCE | EAIGE | FARRE | FOORE | W & TR
13:00 147 vs| 2NIVS3NLDOREE AfT AT W s i s
15:00 | 207VS3roofas | vs| SOLVS6hroiEE 1437 1437 B W ] W
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